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Opportunity. Cost Model of Human Resource Accounting is developed

by

(1) Lev and Schwartz (2) Flamholtz

(3) Hekiman and Jones (4) None of the above
ANY YUHT WWieT H HaET @rd Aiew eig e ¥
(1) a9 ud saes A (2) RIS J

(3) P e s A (4) ZUOR N ¥ BE T8

A profit centre is the unit that :

(1) is held responsible for the revenue earned and cost incurred in
that centre.

(2) is the unit within the organisation that is responsible only for
cost and expenses.

(3) is the unit within the organisation held responsible for cost, revenue

and investment made in that centre.

{4) None of the above

WY HH UH 3HE ¢ W

(1) SH &% H o9 & SUN Ud WFd & €9 & g saiEdr ¥

(2) & @ & NI TH IHE T S haw @G g HJAF B Aw
JoErh #)

(J)Em%ﬁﬂﬁr%sﬁlé%a“réﬁ'aﬁmmaﬁﬁtﬁv%ﬁ
fae sowErl ¥

(4) Iu0FT F F &g TE

AS-25 is related to : -
(1) Intangible Assets
(2) Financial reporting of interest in Joint Venture
(3) Borrowing Costs

(4) Interim financial reporting

WG AEHR-25 qEhud o

(1) omd wwiragl
(2) dgawm wEd H Al @& g wiaded
(3) THR @A

(4) oranm BRI ghoEe

R T N T T

MR AT e ey
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4 Statement 1 :  Social accounting is defined as Identlﬁcatlon and recordmg
of business activities regarding socral respon51b111ty

Statement IT :. Human Resource Accounting is the process of identifying
and measuring data about human resources and

communicating this information to interested parties. i

Codes :

(1) Statement I true, II false

(2) Both are true

(3) Statement I false, 11 true

(4) Both are false

w1 GG SEiE @ e aRifEl S e seer
¥ gufua ¥ N wad T o9 o B $ owg ¥ afieniE

foran s €

YT 11 AEY GUEE iR, AN GWeE) ¥ aRiyd siiwst @ gEenrT
amﬁswawsﬂw&ﬁaﬁ%ﬁuﬂaﬁwu@%ﬁ

wiRar ¥ |
-
() w1 6@, 11 3@
(2) = @™
(3) @wuT 1 o, I a@

4) T orEe

5 Beta measure is the index of :

(1) Zero risk

(3) Systematic risk

EEARCIEEE: Cencik S
(1) == afew
(3) =g siRgg
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Unsystematic risk

None of the above
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6 Mean variance model for portfolio analysis is developed by :
(1) Stephen Ross (2) William F Sharpe
(3) Harry Markowitz (4) None of the above
qiewieal fredwe @ mer’ Rrrw e Restre fem
(1) ®ws U9 * 2) T we ad J
S (3) W omdRew 4 (4) woE N § g T
7 Seidler model is related to -
| (1) Human Resource Accounting
(2)  Social Accounting
(3} Revaluation Accounting
{(#}) None of the above
diswy Aew g=fug ¥
(1) wFe §ueN o' e 9
(2) WHNNE wEmt
(3) YTHeuET Awie
4) IR ¥ § B8 A
8 Statement | @ Call option means purchases of securities at predetermined
rates prior to end of option period.
Statement J1 :  Speculators use derivatives as hedging tools.
Codes : :
(1) Statement (1) is correct, but statement (IT) is not correct
(2} Statement (II) is correct, but sfatement (1) is not correct
(3)  Both statement (I) and (II) are correct
(4) Both statement (I) and (II) are incorrect
afvmaT 1 wﬁwmaé%ﬁwmﬁ:%mﬁﬁﬁﬁ
- wifedt w® ud freife ge woww wen |
afime 11 WA gafEl B s e ST @) axe wE Ay §
?\)_c,r :
() afrar | o &, B () o =8 3
(2) v 1 98 %, feg e (D a8 =& %
3y st (D) 9 (1) <M1 &8 ¥
) afmem (1) @ (1) aFt 99 @ ¥
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9 Which is not the step involved in responsibility accounting ?

()
2
)
@

Concern is divided into various centres.
Targets of each responsibility centre are set.
The charge of each responsibility centre is given to a manager.

Change in the price level is a continuous process.

R & @ 99 @ e SoEe wEi ¥ gataa & ¥ 7

(1
2)
3)

#

g w iy el F fqwlia fear swr ®)

TS - TAENIE Fm & wed fraiia el SISy

TAe IUEIRNG g Bl YN U YEEHH @ d) wEar |

Wwﬁqﬁaﬂﬁwﬁmﬁﬁm%l

10 Current purchasing power method is related to :

(1

()

(4)

Human Resource Accounting
Social Accounting
Responsibility Accounting

Accounting for price level changes

IO wa STied faty wEfud ¥

(1
(2)
()

)
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11 . A fixed asset purchased by a company for specific purpose for Rs. 25 lakh

at the beginning of the year and it received government grant of
Rs. 5 lakh on it. The asset has an effective life of 10 years. At which
amount fixed asset is shown in the balance sheet at the end of first year
as per AS-12 if first method is adopted ?

(D
()
()
(4)

Rs. 23 lakh
Rs. 18 lakh
Rs. 20 lakh
Rs. 22.5 lakh

WF W g S 25 a@ 5. ¥ falre Ry % R o F owrew
TAL T | 59 T 5 M 6. THN GG P | iy werl st
10 af ¥ | wem w¥ ¥ o ¥ wrh wafy R ¥ few g w R
WA Al e Ae-12 B wew Ry awRh o & 7

(1)
(2)
()
)

23 W@ &
18 W@ .
20 @ ®.

225 W™ 5.

12 Present value of future earnings model is also called as

(1)
¥e)
()
)
W
OF
@
3)
@)

Saidler's Model

Harmanson Model

Lev and Schwartz Model

Human Asset Multiplier Model

WS B qIAH e Aew W deear E o
drewy Aisd

G Tl

W q A Hiew
qHE g O Aisd
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13 GiVen below are two statements, one labelled as Assertion (A) and other.
labelled as Reason (R) :

Assertion (A) : In factoring the risk of bad-debts is eliminated.

Reason (R) :  The factoring institution takes over the responsibility of
' book-debts due to the client.

In the above two statements, which one akternative of the following is
correct?

Codes :
(1) Both (A) and (R) are correct.
(2} Only (R) is correct, but (A) is incorrect.
(3) Only (A) is correct, but (R) is incorrect.
(4) Both (A) and (R) are incorrect.
_ﬁ%ﬁmmﬁ&_n&%,qma@raﬁmw (A) &R T@Y W BRO (R)
- HEl T T
AT (A) : amed (hareftn) ¥ = Fon @ wifen ReRe & S
HRW (R) : S (eelt) ST el & YT o & dgar Nde
HY & SO v g
IR A dat o Preifed ¥ 4 @ w uw Reeer @@ e
T -
(1) (A) 8k (R) a1 @& &4
(2) Ha@ (R) 981 &, fg (A) Twa ¥
(3) waw (A) §81 &, Reg (R) o E
@) (A) T (R) a’m‘r AT E

14  The GDRs and ADRs can be listed on :
(1) New York Stock Exchange (NYSE)
(2) Over the Counter Exchange of India (OTCE])
(3) Any of the Overseas Stock Exchanges
(4) Luxemburg Stock Exchange (LSE)

W ¥ omw uwd U ¥ oRd @ gewe fea om we@m ¥ o
(1) =qai% w=ie Tgaes (NYSE) T

(2) S T BN THEW oMk gRedr (OTCED) X

(3) @E H oW ®ie usdd

(4) wRETT W vwEEs (LSE) W

334/ COMMER A] 7 AT (Coned...




3344 3344 3344 3344 3344 3343 334 3349 3344

15  Statement | :  Gold futures are same as e-gold.

Statement Il : 1t is difficuit to anticipate stock market movements,
especially for the short term.

Codes :
(1) Both Statements are true.
N (2) Statement II is true, bLit Statement ‘T is false.
(3) Both Statements are false.
(4) Statement 1 is true, but Statement li is false.
w1 . @oE g é—-aﬁ_w El
B ARl 9o ¥ fda: omw e § a9 I R @ geina
HET HieT )
BT
(1) & =g a8 ¥
(2) HAT I w8 ¥ AfpT U | Twd &)

(3) T wU T T

(1) wu 1 §& ¥, wERF Faw U T §

16 DAGMAR approach in marketing is used to measure :
(1) Public relation (2) Advertising results

(3) Selling volume (4) Consumer satisfaction

fom & 9w il @8 6 R sum @ yEm g ame N fem

ST
(1) &% Wik (2) Tasmus @1 ufyom
(3) T afEm (4) ST d@gie
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18

19

‘Howard -~ Sueth model of consumer behaviour is popularly known as :

(1) Machine Model (2) Human Model
(3) Marketing Model "~ (4) Purchase Model

Eﬁﬁﬂmww SES-g3y Hisd @ o Wi ufte W ®
AT STl R

)

(1) @l wiew (2) H|FE HtEw

(3) Tauve dfed (4) ma q‘f@ﬁ

¢

To generate and facilitate any exchange intended to satisfy human needs E
or wants such that the satisfaction of these wants occur with minimal
detrimental impact on the natural environment is known as : i}

(1) Aggressive marketing (2) Operating marketing
(3) Green marketing- (4) All of the above

AR STasTaRdiell st et W gie ¥ e Rell e @ s
HET ST ghawsEe e, | UR saygeasl B dgfe e 38 3w
ypfer AR U gAY WY &, SH WMl SR ¥

(1) omemE s (2) waEE Taues
(3) sha T (4) SUET gl

Which element of the promotion mix do wholesalers generally apply to
obtain their promotional objective ?

(1) Advertising (2) Personal Selling

(3) Trade Promotion - (4) Direct Marketing

d Rpgpar oY GadeTHS I29T Bl WIS B % fRe wmraEa & ¥
g9 fogor & 9@ @ yWgE #W E 7

(1) fasnus (2) Tufrre Tt

(3) =R "gdH (4) wIe v
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20 What is mass marketing ? L
(1) Offering the same products and marketing mix to all Consumers.

(2) Offering variety of products to the entire market.

(3) Offering differentiated products to all customers.

(4) Following concentrated marketing strategy.
SH () fOvm wmm g 7
(1) & SIWdslt B TF OF Tog aun Euve R 99 @
2) T SR W Y TR ¥ SR i 3@

(3) wf el W = e S 9w '

(4) dHPed fawm R @ TEd T

21  Match items in List - 11 with items in List - I :

List-I

(I) Mega Marketing

(I) Penetration Price

(i) Promotton Mix

(IV) Customer Satisfaction

Codes :

(@& O ©
(M O @ dm
2y a @O @O
Gy av) {n @
(4) dm avy @

(d)
av)
(V)
0
(I

(a)
(b)
(c)
(d)

List-11
Advertising
Kotler

Low Price

Post Purchase Behaviour

-0 A w g A ¥ W gife et

L5118 R
O gee fawem
() duF M
() wadw fhgm
(V) wTes Hgf
E

(@ ® ©
n O @ dam
2y (m ® @)
(3) (v) dy @)
4) 1m av) @
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(a)
(b)
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(d)
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23

24
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What is relevant to place variable of marketing mix ?
(1) Branding - (2) Price penetration

(3) Sales personne!l motivation (4) None of the above

R frew b W o b R e e 7

'(1) srifET (2) @ AE
(3) fasr wfte arfiron @) S ¥ wE =@

Find incorrect statement :

(1) Marketers arouse emotional motives.

(2) Marketers satisfy rational motives.

(3) Marketers formulate different sales promotions for different motives.

(4) None of the above

Tod HUT T HL -

(1) foeorea SErs seeg sw & ¥

() R REwpl S # dge w@ ¥

() Promet e s b R R Rl dad @ @ 3
4) swe ¥ ¥ B TE

What is customer delight ?

(1) Performance equal to expectation

(2) Performance less than expectation

(3) Performance much more than expectation

(4) Expectation more than performance
STHIAT W& W & 7

(1) wemm & soEx Frerea

(2) gEET ¥ HH e

(3) TN § Wl o Py

@) e & st wanem

TR iConed...
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25 Which terms are often used inter-changeably in marketmg literature ?
(1}  Concept, method, philosophy '
(2) Concept, approach, technique
(3) Orientation, concept, philosophy
(4) Philosophy, system, concept
oo T # R sl wE aruRads vy ¥ guanT fear s v
(1) Hguwron, Tehy, H
(2) orggRYn, JUTH, dHATE
(3) THEE, aunen, &9H
4y =IF, worell, ermEOn
26  The third stage in the consumer-buying decision process is :
(1) Evaluation of alternatives (2) Information .search
(3) Purchase decision {4) None of the above
Sai-EdE Pty ufem ¥ @l o ¥
(1) TRreedl & qrareT (2) I B qw
G) @he @1 Pk @) owgw ¥ X B =
27 Industrial buyers are likely to be most responsive to  appeal.
(1) Emotional (2) -Moral
(3) Rational (4) Cognitive
Shenfies wammo 3@ onwE & wiy walftw aRifeasie @ ¥
(1) wde=oTs (2) -
(3) ghrrgaa (4) HSETE
28  Which segmentation approéch is most compatible with the spirit of
marketing concept ?
(1) Benefit sought (2) Income
(3) Social class (4) Family size
G FW ARk @usiee fafl, Rouw @ emuren & wa @ weituw
FIgH & 7
(1) oiEe @™ (2) g
(3) wmhE =t (4) ufER @1 o
334/ COMMER A 12 [EHAIIERY  (Contd...
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29

30

31

32

In India, which pricing practise is not permissible ?

(1) Penetration Pricing (2) Skimming Pricing
(3) Predatory Pricing (4) None of the above
A H, few v ol gomed oY srgafr w@ ¥ o2

(1) I B Prafor (2) wm Fg P

(3) Ty Swg Frafo 4) v A ¥ W

Who prdpounded the concept of ‘Marketing Myopia' ?

(1) Theodore Levitt (2) Peter F. Drucker
(3) C. K. Prahlad (4) Michael Porter
oo sridgfe @1 g feay R ¢
(1)'fém’igh?rfém (2) d=x s gaw
() #. % wEEe (4) TR WY

Performance appraisal requires

(1) Morale boosting (2) Training and_development activity
(3) Job analysis | (4) None of the above

Frares wewieT % fio omagas ¥ ;o |

(1) =Fes "omT (2) whnew wd faery iRy

G) @ frsre @) sw ¥ A B T

The mechanism to identify employee's growth potentials is done
through ;

(1} Job enrichment (2) Job evaluation

(3} Assessment centre (4) Position Description

T % el R A vew e & oia @ wd §
(1) e o (2) @ e

(3) TEwT FE @) uT Rafy fyam

334/ COMMER _A] 13 TN 1Coned...
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33  Statements : o
(a) High morale always leads to high productivity.

(b) High morale need not necessarily lead to high productivity.
(1) (a) is correct, (b) is incorrect

(2) (a) is incorrect, (b) is correct

(3) (a) and (b) both are correct

(4) (a) and (b) both are incorrect

HET |

(a) S WAEE A Tem IR @ I YgH w<ar B
(b) v=aI wimw aifrarfa: T= SaEed @ ok wom Ad wRar E
(1) (2) 98 ¥ &T (b) Twa ¥

@) (a) ™ ¥ e (b) T )

(3) (a) X (b) < @& ¥

(@) () R (b) ¥ ™ ¥

34  Arrange the following in order :
(1) Promotion
(ii) Performance appraisal
(iii) Recruitment
(iv) Training and development
Codes :
() (i), (v), (@), (i)
(2) (i), (i), 1), (Gv)
(G) @, (G, (i), (iv)
@y (i), (v, (), @©
Fraife &) wwrER waiaa wX
(i) wEfT
(i) wd e & qere
(iii) wal

(iv) widtewr wd e

F

(1) (i), (v), (@), (i)

@ (i), @), @ )

() @, ), (i), (v)

@) (i), (v), (D)., O

i
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35

36

The concept of Quality circles is a brain child of :
(1) Karou Ishikawa |

(2) Munchu _

(3) Japanese union for Scientists and Engineers
(4) None of the above

TURRT Tl ST yRiRT @) § o

(1) @R ghwEr

(2) g

(3) Ul dsnfv wd afwiar by

@) 9w & 4 W T

Match the items of List-I with items of List-IT :

List-I ' List-11
(I)  Hygiene theory (a) Abraham H Maslow
(II) Theory X' and 'Y" (b) Victor Vroom
(1) Expectancy theory (c) Fredrick Herzberg

~ (d)  Doughles McGregor

Codes :

(I (n g
(1) ()} (@ (b)
2) @ @ o
G) © & (@
) @ ® @
-1 a0 gR-11 % w @ Ry

-1 -1
0 e faer (a) T T, W
(D "wR” g e’ Rem () faeex gw
Q) v faga () bshiw wofat
(d) =E AT

E T

@ dan am
M © @ ©
2) @ @ @
G) & ) @
@) (@ ©®) (@

334/ COMMER A] 5 (I (Contd...
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_ o 37  The last stage in a grievance redressal procedure is handled by :
SRR (])TradeUmon S (2) Voluntary Arbitrator

H RDepartment a— (4) Grievance Committee

qﬁﬁwﬁwaﬁr@iﬁnmaﬁrﬁ?wmm%:

(1)
)

TR H @ few
qHE HETEs R @) e afify -

38 Match the following =~

o (a) -
®) ﬁe'rzbérg" o (i) X and Y Theory
(c) | Ouchi. (1ii) Need Hierarchy Theory
(d) McGregor (iv) Z theory
Codes :
(@ () (¢} ()
(1) O () Gi) (iv)
@ ) & () (i)
G) (v) (i) (i) @
@) (i) () v Gi)
Prafafes @ fem wY
(a) T . () o Ryara
(b) B (i) X o Y frara
© emed (iti) - eMazper. ewn frar
(@) " (iv) Z Rrem
E T
(@ () () ()
() () i) (iv)
@ G @ vy (i)
G) (v) (i) i) ()
@ @i O v Gi) |
334/ COMMER A] 16 (Mg | Contd...
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39 Which of the following steps are essential in staffing process ?

(a)
(b)
(c)
(d)
(e)

Hiring the right kind of people.

Firtng the non-performing employees.

Developing skills of the employees through training.
Collective Bargaining.

Maintaining the employees by creating favourable conditions of work.

Codes :

(1)
@
(3)
(4)

{(a), (c) and (e)
(a), (b) and {c)
(¢), (d) and (e)
(b), (c) and (d}

fraffes & & @ @ dom wfe when § omasms €7

(a)
(b)
(c)
(d)
(e)

(1

el WHIL F AR B Hw B
I -Praqes wdatEl = Frem 3
yRem & SR wHaiE & eow o fHeia s

wefed diaamsi | |
wY B omgw Rafral SO H wEiEl @ Y @

(@), (c) X (e)
(2), (b) X (<)
(c). (d) ST (e)

(). (¢) AT (d)

40  The authoritarian leadership style goes with :

(1) Theory X (2) Theory Y

(3) Theory Z (4) None of these

afyeEdl Yga Jen Prafwfeg § @ frgd @ @ @l @7
() =& X () =@y

(3) @ Z (4) T ¥ B T8

334/ COMMER A} 1 IR 1Cone-
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42

43

The general pattern of behaviour, shared helief and values that members
have in common is known as - ' '

(1) - Organisation Climate (2) Organisation Culture
(3) Orge_misation Effectiveness (4) Organisation Matrix
& d9 wdamrs ¥ a9 weaw b

(1) T & wrqrero (2) 13T @ wwply
(3) wTET & ywmEshwar (4} 9T @ @i

Which of the following ic not a principle of management according to
Henry Fayol ? _

(1)  Subordination of individua! nterest over the organisational interest
(2) Espirit de Corpse

(3)  Unity of Managers

(4)  Unity of Directions : _
%ﬁﬁ'%ﬁa%mwﬁaﬁrﬁgﬁﬁ%ﬁwmwﬁuwfﬁmﬂﬁ% ?
(1) wﬁﬁﬂﬁ%ﬁ%amwmﬁﬁﬁaﬂw
(2) & e

(3) vl @ umar

(4) PR & uaa

Which of the following is suggested by Blake and Mouton as the best
leadership behaviour ?

(1) have concern for people but high concern for production

(2)  have concern tor both people and production

(3} high concern for both people and production

(4) high concern jor pevple and low concern for production
WE W e 9 gdds W5 ot Prafufeg F @ fenty wraman
™ %7 N
(1)%%%&%‘?@@@%%@@%%

(2) @M iR ST A B R gden
(3)@7&@1%%%%&@@?@%
(@Fﬁﬁﬂaﬁﬁa@zﬁmﬁ{mﬁ%%&maﬁm
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44  In which method of training, job conditions are duplicated with equipments
and machines which are identical with those used at the work place ?
(1) On the job training "~ (2) Apprenticeship training
(3) Vestibule training (4) Internship training
wivrerer &F fog =l o, eriem 9T g R 1Y T Sume uE wely
& WIEY SUHON T WAl & wy e Rufwl <o ww v o7
(1) SF-<-wi  igerr (2) afemiim widne
() axegw i (4) AR iy
45 The Indian Factories Act was passed in :
(1) 1948 (2) 1952 .
(3) 1936 (4) 1960
ARG SBREF = A wig gem
(1) 1948 (2) 1952
(3) 1936 4y 1960
46 Which of the following is not a route of féreign direct investment ?
() Govemment.approval (2) FIPB
(3) FlIA (4) None of the above
e & @ @ @ty Rl e w Wt T ¥ °
(1w Wl @ wadd
(3) TH o T @) wwfar X ¥ w T
47  Vertical foreign direct investment is related with :
(1) Particular stages of production
(2) All stages of production
(3) No stage of production
(4) Short term production
wad, woaw faasll fay e g g o
(1) SuEd o Rfine omwmet g
(2) SO N ormwel d
(3) wuRd & Rl emean ¥
(4) ATIBET IUEA 3
334/ COMMER A 1 (A Cont.-
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48

49

3349 3344

Intra-firm is trade among -

(1) Two multinational corporations

(2) Parent firm and its foreign affiliates

(3) Two firms

4 Al of the above

T (Intra) w e B T

(1) & g Pl & W

) ﬁ’i’ﬂﬁtﬁ‘-’f@{aﬁﬁﬁsﬁaﬁﬁrﬁ%m
(3) @ wAE % HA

4y wwE

Tick out wrong match from the following :

(1} Economic Umion - ECM

(2) Custom Union - EEC

3) [Free Trade Area - LAFTA

4) Economic Umon - EEC

bofufag & @ e gARE @ T B -
() onfiem W - 3 A

(@) wewt el - % £

(3) TR AR S w@ Y s AT

4y oE T - £3

Which of the following statement is incorrect about the objectives of

- SAARC ?

(1) 1t promotes only economic welfare
(2) It promotes collective self reliance
(3)y It develops regional free trade

(4) It promotes socio-economic—cultural welfare

ﬁﬁﬁ%ﬁﬁmmmw%ﬁaﬁsﬁf%ﬁaﬂmﬁw%?

(1) %Wmﬁ%waﬁrmﬁﬂm%t

334/ COMMER A} 20 ILEA AR |Contd.
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51

EEAm ST SO T

53

Agreement on Agriculture (AOA) in WTO provisions doF:s not include :
(1) Market access (2) Domestic support

(3) Export subsidy " (4) Specific subsidy

&g, A, ol wrauEl ¥ Hit oo wwshar (A0A) W whwfag wd ¥ -
(1) AR ugd (2) = wEAn

(3) Pratd ergam (4 Tafme argam

NAMA m WTO provisions is rélated with .

(1) TRIPS (2) TRIMS
(3) Agriculture (4) Public health
s, & o, wEE ¥ Ar (NAMA) ssifag ¥ o
(1) T (TRIPS) @& 2) T (TRIMS) &
() W (4y w9 @ q

In foreign exchange forward premium a discount can be calculated by the
formula :

FR-SR FR -SR

- X 4 00 2 —————Xx4x100
0 SR 2) FR
' FR -SR FR -SR
——x12x100 x12x100
) SR ) 'R

fagslt fafm ¥ oftm MR @1 & &0 B g9 ¥ o @ S
BEGIEAICEIE

(1) FR-SR | 4x100 (2) f_]?‘_}_"Rﬂx4x]oo
(3) F—RS%{S—wal?,xIOO ) FR=OR 12100

L 334/ COMMER _A| 21 HHINER I tConed...
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54 Which of the followmn is not true about speculation in foreign
exchange ?

(1) 1tis opiaosite of hedging.

(2) Tt is similar to hedging.

(3) 1t is carried out to make profit with risk.

(4) None of the above
%&sﬁﬁrﬁwﬁ@%mﬁﬁﬁrﬁaﬁﬁwwﬁ% ?
(1) =% whwan & Roda ¥

2) uE TRREw % e ¥
(3)WWH%HW.W%%QWW%I

@ wogw A ¥ B

55 In India full convertibility of rupee was allowed from 1994 in :
(1) Capital account
(2) Current account
(3) Both in Capital and Current account
(4) No full convertibility was allowed

e F 1994 T A ot oRedEdear Wga B 4
(1 9o e H

(2) =@ @ F

(3) ﬁrawm@ﬁfeﬁrﬁ

@) T oRadsie Wi T8 T A

56 The '] Curve Effect’ in foreign exchange is related with : ' ;

(1) Exchange of currency (2) Devaluation of currency

(3) Transfer of currency (4) Convertibility of currency
Rsh Rfrm ¥ W mw wwe el g R

1) T b A @ T % aEEE

(G) T & s § @) Fa1 & wEmieE @

334/ COMMER_A] | 2z (WNATHANG  (Contd...
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57  All transactions of current and capital accounts of balance of payments
are known as

(1)  Accommodating transactions
(2) Non-exchange transactions

r (3) Autonomous transactions
(4) Non-autonomous transactions

Wﬂg‘ﬂﬁaﬁiuﬁ@{ﬁ@ﬁﬁﬁmw%uaﬁww ST &
(1) v9RNH @9ER & ®Y ®

2) W fafrm zeed % wu o

(3) @O =Rt % 'Y O

(4) W w@Ed JEE & T9 4

58  Which committee designed the derivative trading in India ?
(1) R. Rangarajan Commirtee
(2) L. C. Gupta Committee
(3) Malhotra Committee
(4) Narsimaham Commitiee

Hw W gawed ¥ =Wy & ged Rew afifs 3 Fruifa e o ¢
(1) &Rt ahy '

(2) T & T gt

(3) weEEn Tty

(4) el wf

39  Which of the following is not cosrect about derivatives ?
':(]) They are highly leveraged.
(2) They are low leveraged
" (3) Based on prlce of underlying asset.
(4) They are financial contracts.

P o & o oW o b et W ol R 7
(1) T oty sditva & &

(2) ¥ P =ife B Ed

(3) orabiEa uimmty & Py w enuRa)
@) A T aey B ¥
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66 Which of the following is not correct about foreign institutional
investors 7
(1) They help to develop capital market
(2) They provide stable investment in economy
(3) They mainly provide portfolio invesiment
(4) They provide short and medium term finance
B ¥ ¥ w T PRE g fbremet % e ¥ g 8 ¥ 7
(1) ¥ i Tt b Rew ¥ weEs w@ E
2) & erferqen ¥ Rex fifmm wew @@ ¥
G) & yww ot ffrm e w19 e
(4)&mﬁﬁﬂqénwmﬁﬁ?ﬁﬁqmaﬂ%%l
61 Match List 1 with List 1l and select the correct answer using the codes
given below the lists : '
List 1 List 1I
(2) Sec. 80 RRB of LT. Act, 1961 (i)  Individual
(b) Sec. 80 E of LT. Act, 1961 (it) Individual resident
(c) Sec. 80 C of 1T Act, 1961 (iiiy All assessee
(d) Sec. 80 G of 1.T. Act, 1961 (iv) Individual and HUF assessee
Codes :
@@ ) (& (d
(1 (@ (@) @) @v)
() (v) (i) @) ()
) Gy @O Gv @9
(4 Gy (v) B (i) .
qﬁr-lzﬁtqﬁ—uﬁgﬁﬁmaﬁ%ﬁ@n%%ﬁnﬁﬁzﬁrmﬁ
E FER W TET B
'ﬂ??f"l ' '@f--ll
(a) T80 RRB ermaay s, 1961 (i) =it
(b) & 80 E sy arfufrm, 1961 (i) T =it
(c) T80 C Srawy dAtafEs, 1961 (iii) T wER
(d) =80 G ey sufaH, 1961 (iv) - =i g famg Tl
- TRar &aml
FT ¢
(@ () (@ (@)
(h o G @) ()
(2) (vy (i) @ O
3) @y O Gv) @)
() (i) (v @) ()
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62  Match List I with List 1 and select the correct answer using the codes
given below the lists :

List T List il
(@) Sec. 288 B of ILT. Act, 1961 (i) rounding off tax
(b) Sec. 132 of I.T. Act, 1961 (i) computation of tax on

winning of lottery, cross-word
puzzles etc.

(c) Sec. 115 BB of LT. Act, 1961 (iii) computation of tax in search
. cases on the basis of block
| ' assessment

i (d) Sec. 111 A of LT. Act, 1961  (iv) computation of tax on short-
term capital gains of listed
-. ' equity shares and units of
| - equity oriented funds,
5._ ' Codes : o
@ ) (@ (@
M) G Gin 3)  Gv)
T ) @) @) @) (v
‘- G) (v} i) () (i)
@ @i (v @ @ |
-1 &t -1 F gafee At ol 49 RY D g9 & e @
a8 I9Y @ 9o HL
-1 | an"fff-—-u'
(a) ot sifufrm, 1961 9 aRT288 B (i) ey it @ quitfena
S :

(b) @R oubmET, 1961 R AT 132 (i) @ a7 v o
_ T U BT B qUET
(c) STt Afuf=m, 1961 FTaRT115 BB (iii) awsly & qon & THE &HT
' ' iR 3% ey 9T WY @Y
U]
(d) ot aifufrm, 1961 @ 9T 111 A (iv) geag awen eigh wd -
| QAT SEl B P T
[ % STEUEBTA Tl T o
: g
@ ®) © @@
)y @)y Gi)y (i) (iv)
@ O @) dGiy @v)
(3) (v} (i) () i)
4 iy Gv) () @)
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63

64

Statement 1 - Family pension received by the family members of Govt.
employee is fully exempted irrespective of amount received.

Statement 11 :  After fulfilling certain conditions capital gain arises
on the transfer of urban agricultural land is exempted
u/s 10 7).

Codes : '

(1) Both statements are fully correct.

(2) Statement 1 is partly correct and 11 is fully con;ect,

(3) Both statements are false. '

(4) Statement | is true and 1I is faise.

®0F 1 wmﬂmﬁﬂrﬁ%ﬁuﬁﬂﬁﬁwﬁmmﬂmﬁﬂf@ﬁw,
| WT@T@W%&W,WWW%'

werd 11 sﬁﬁ@ﬁmmwiﬁmwwm)%ﬁ'
ﬁﬁﬂaﬁswsﬁtg&mqtmgﬁ%l

%< -

(1) ﬁ%mrﬁaﬂa@r%

2) muﬁlaﬂﬂmaﬁ%,mmﬂlﬁiaﬁ%l

3) 2 wgd TWa €

(4 w1 sl ¥, wUA il @

Ex-parte assessment is called as :

(1) Best judgement assessment

(2) Re-assessment

(3) Scrutiny assessment on the basis of evidence

4) Self assessment

qﬁ-—%ﬁt{mﬁuﬁwm%:

(1) gatem @Y

(2) gﬂtmﬁaﬁﬂ

' (3) fdr o el 3 onene W e PR
) g e fraie
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65 Uncovered loss from business and profession for the previous year

2012-13 is Rs. 2 lakh. Assessee filed his return on 31 December 2013,

| o In how may years such business and profession loss can be carry-forward

| for set-off ?

| _

. (1) 8 years (2) 4 years

| (3) .2 vears @) Cannot be carry-forward

l', . nasz2012-13ﬁwaﬁa‘rﬁw{ﬁamﬁwma%am#
\‘ ' Rt 31 R 2013 ® o e @ wmw afew fe ¥ R |
| . T A T A o X e Ry AW F qh e add 7

(1) 8 = ) 4

(3) 2 a9 (4) oM w8 & welt w1 wer ¥

66 Mr. X is the owner of 4 trollas (capacity 16000 kg. each) and 5 truck
(capacity 8000 kg. each) on 1-4-12. He sold 2 trollas on 5-5-12. His receipts
from freight were Rs. 8 lakh and his operating expenses excluding
depreciation Rs. 3 lakh for the year. Depreciation as per Income Tax Act
Rs. 80,000. What will be presumptive profits under Section 44 AE of the
Income Tax Act, 1961 for the assessment year 2013-14 ¢

(1) Rs. 2,70,000 (2) Rs. 4,20,000

(3) Rs. 4,10,000 (4) Rs. 4,00,000

a‘i’rﬁaﬁ4ﬁm (ufé-csa?r AT 16000 R6e) o 5 2% (e 2 aaT 8000
: el a1 Rt 1-4-12 @ w@Ed ¥ 1 @t @ Qe R 5-5-12 @ A R
- Ma&ﬁmﬁaﬁsmﬁawﬂam@%q\wwﬁtﬁwsw
.: ' T W SR U % SrfER T @@ 80,000 . 41y amwey sifyfrm,

1961&%44M%Wmmm,aﬂﬁahwaé
2013-14 & oy feam = 2

(1)  2,70,000 . (2) 420,000 .

() 4,10,000 . 4)  4,00,000 .

334/ COMMER_A] O IR [Coned...
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68

Which of the following mcome is/are exempted under Section 10 of Indian

Income Tax Act, 1961 for a resident individual ?

(1) ndian agricultural income

(2) Share of profit from a firm whose assessment is made separately.
(3) Amount received out of income of HUF as a member

4y All of the above
Wﬁﬁ%fﬁ@mffaﬁvﬁmmmﬁﬂﬂ, lo1 I ar 10
% operta ws Fraeh =R w BGH ¥ 7

() sl Hi & |
(2)@&3@1&4%‘1%@,%%@%{%{%3%%%%1

) %@aﬁﬂmuﬁmtiﬁmﬁﬁmﬂzﬁmﬁw@1

(4) TUE |4l

Mr. A a resident Indian donate Rs. 12,000 in cash to an approved eligible
charitable institution on 1.6-12. His adjusted gross total income for thi

purpose Rs. 4 akh. Calculate amount of deduction under Section 80 (

for the previous year 2012-13.

() deduction 15 not allowed (2) - Rs. 6,000

(3) Rs. 12,000 (4) None of the above

fard wrdm T A 12,0006.%@&@@3&%?{3@&@@2
=R h@ﬂﬁaﬁ%%aaﬂé’[wa%wﬁaﬁmmﬁﬁgmm
e o %lumsovr?(ﬁsmﬁﬁnaaézmz-nﬁaaﬁmr&mﬁ
o ofdr el ) ’
() ®IA wWEd el (2) 6,000 %

() 12,000 % 4y wodEd W A ®g T

334/ COMMER_A] 28 (VA tCon
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69

70

71

Deduction under Section 80 P of Indian Income Tax Act, 1961 is
available to :

(1) an individual and HUF only

(2} a company assessee

(3) a firm only

(4) a co-operative society

T . ofuPEm, 1961 @ w80 O ¥ sraa mAr &
SR

(I)WQ&?Wﬁzaﬁ%mﬁmﬁﬁwﬂ—m_
(2) Um FEAI BEmEn |
(3) WF wY HEET
4) um ey wiufy

An individual assessee who has income from salary, capital gain and other
sources for the previous year 2012-13 is eligible for submission of his return
of income in which prescribed form ?

(1) ITR - 2 (2) ITR - 1 / Sahaz
(3) ITR - 4 (4) ITR - 4S / Sugam

Uh Afte g e T ol 2012413 ¥ &, Gl @ 9 e wneny
ﬁm%a’émmmwsnu@ﬁiﬁﬁﬁaﬁmﬁwﬁmfﬂatmﬁwﬁ
g oifipa ¥ 7

() &m. a4 & - 2 2) o A @ - 1/ gew

(G) % & w - 4 4) @ A SR - 45 | g

In case of failure to file the return on or before due date, but it is
filed before expiry of one year from the end of relevant assessment
year 1is called as :

(1) Revised return (2) Defective return

(3) Belated return (4) None of the above
aﬁ:aﬂémmmw&naﬁwmﬁaﬁaﬁm%ﬂ:aﬁmw@r
T W few BT 4 g wm ¢ ey asfum a3 PR ad %
Y & AR Tm ad % AT o W Teer afew wY Y ¥ oar aw
HEAT T

(1) @l = (2) Tayel TEm

3) T A Faol afew w1 (4) SwE ¥ ¥ @ 7S
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72 An urban agricuiture land of an individual compulsorily acquired by State

government and compensation is given to him Rs. 20 lakh on dated
12.12.12. The land was purchased for Rs. 4,63,000 on 10.2.04. Calculate
the amount of taxable long term capital gain for the assessment year
2013-14. If cost inflation index for 2003-04, 04-05 and 12-13 are 463,
480 and 852 respectively.

(1) Rs. 11,48,000 (2) Rs. 15,00,000

3) Zero (4) None of the above

uF wie wEd & el g 9ft WY waER g sl &Y fas
12.12.12 @1 20 W@ T. garrasi T | 3 qft i 10.2.04 & 4,63,000

5 F Wl A et P 9f 13-14 F e S OGS0 wn A i
T AR T AR qEiE o 2003-04, 2004-05  2012-13 ¥ AT
463, 480 9 852 ¥ |

(1) 11,48,000 %. (2) 15,00,000 %.

() & @) wrem F F P T

73 Mr. B purchases 1,000 equity shares of Rs. 10 each of X Ltd. on
1-6-12 at Rs. 54 per share and sold on 1-9-12 at Rs. 46 per share.
X Ltd, declares 50% dividend for which record data was 3-8-12. What

amount of short term capital loss eligible for set-off’ from this transaction ?
(1) Rs. 8,000 (2) Rs. 3,000
(3} Rs. 5,000 (4) None of the above

f & ¥ 1,000 FER Sig 10 B TN TE . H RAfE 1-6-12 @
34 6. Wi g & & w whe d° T 1—9-1231%46_5.9%@1&13%
a7 4T g R uad R ¥ 50% iy it Rean Rreds fr ReR Tt
3.8.12 V| 39 TR § SRUEEA Qo By B 9E MY S@EE S Tt

F OH A T o
(1) 8,000 %. (2) 3,000 %.
(3) 5,000 %. (4) vude ¥ ¥ B T
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74 1f the book profit of a partnership firm is Rs. 1,60,000, the remuneration

admissible to working partners under Section 40 (b) of the Income Tax

Act, 1961 is :
() Rs. 1,44,000 (2) Rs. 1,50,000
(3) Rs. 1,60,000 {4) None of the above’

iy wEgerdl W @ gE@E @ 1,60,000 %. T am oy erfufmam,
1961 % Imia urr 40 (b) ¥ weEishw wER B W Y A T

TR o
(1) 1.44.000 %. (2) 1.,50,000 %.
{(3) 160,000 . (4) Suag ¥ 9 HE I8

75 If taxable income of a domestic company for the Assessment Year

2013-{4 is Rs. 90,00,000, its tax liability will be :
(1) Rs. 27.81,000 (2) Rs. 37,08,000
(3) Rs. 29,20.,650 (4) None of the above

AT T A BT B A e T Frafror of 2013-14 % Raw 90,00,000 %,
¥, @ gl war @ o

(1) 27,81,000 &. (2) 37,08,000 .

(3) 29.20,050 . | @) e ¥ ¥ @ T4

334/ COMMER A] 3 ALHENTIAR (Conta..




G s
LY - _

_ SPACEFOR ROUGH WORK / &= %M # T e

[T =

334/ COMMER_A]




